R B R

el | ang 26/1 () 2711 (F1) 30/ () HEYTE
ELH 5% - Hifilnitial AREE ELH 58 Zfifilnitial ARE Bl H 5% Fffilnitial AREE Bl H 41% | Zffinitial | $2=
9:00-10:30 | & =+/47788/4%%% | SKLI/FPK/LLFH [ DT.R/PHY.L/510 P FPK _ |PHY.L
6A [11:00-12:30f  [l-&2/drs SMK/LWM CHM.L/S03 | 3%&t/38/45% | SKLI/FPK/LLFH | DT.R/PHY.L/510 U= FPK |PHY.L
2:00-3:30 = SMK 502 == SMK CHM.L et/ EE/48% | SKLI/FPK/LLFH | DT.R/PHY.L/510
9:00-10:30| /gy FPK/LLFH PHY.L/510 P FPK _ |PHY.L
6B |11:00-12:30 {f-E/dr: SMK/LWM CHM.L/503 U FPK/LLFH PHY.L/510 U= FPK |PHY.L
2:00-3:30 = SMK 502 (LE2 SMK CHM.L PR AR R FPK/LLFH PHY.L/510
9:00-10:30]  g&Et/H SKLIJ/FPK DT.R/PHY.L BT LKY 502 P FPK  |PHY.L
6C |11:00-12:30)  {LE/ggst SMK/LWM CHM.L/503 St/ SKLJ/FPK DT.R/PHY.L 3z WWP 502 YER FPK |PHY.L
2:00-3:30 (L SMK = SMK CHM.L rxt/pEE/ g s | SKLI/FPK/YHC | DT.R/PHY.L/S03
9:00-10:30]  E&%Er/EE SKLJ/FPK DT.R/PHY.L b FPK  |PHY.L
6D [11:00-12:30 =i LWM 503 Gt/ SKLJ/FPK DT.R/PHY.L YR FPK |PHY.L
2:00-3:30 et /pEE/ g s | SKLI/FPK/YHC | DT.R/PHY.L/S03
9:00-10:30]  EEr/EE SKLJ/FPK DT.R/PHY.L U FPK  |PHY.L
6E [11:00-12:30 =i LWM 503 Gt/ SKLJ/FPK DT.R/PHY.L YR FPK |PHY.L
2:00-3:30 et /pEE/ g s | SKLI/FPK/YHC | DT.R/PHY.L/S03




